

Solution to problem ② in H.W # 13

$$\begin{aligned} \textcircled{1} \quad \phi(\vec{x}, t) &= q \int_{-\infty}^{+\infty} dz' \int_{-\infty}^{+\infty} dt' \frac{\delta(z' - vt') \delta[t - t' - \frac{1}{c} \sqrt{x^2 + y^2 + (z - z')^2}]}{\sqrt{x^2 + y^2 + (z - z')^2}} \\ &= q \int_{-\infty}^{+\infty} dt' \frac{\delta[t - t' - \frac{1}{c} \sqrt{x^2 + y^2 + (z - vt')^2}]}{\sqrt{x^2 + y^2 + (z - vt')^2}} \end{aligned}$$

$$\textcircled{2} \quad f(t') = t - t' - \frac{1}{c} \sqrt{x^2 + y^2 + (z - vt')^2}$$

$$\frac{df(t')}{dt'} = -1 - \frac{1}{c} \frac{1}{2} \frac{2(z - vt')(-v)}{\sqrt{x^2 + y^2 + (z - vt')^2}}$$

$$= -1 + \frac{v}{c} \frac{(z - vt')}{\sqrt{x^2 + y^2 + (z - vt')^2}}$$

$$\delta[f(x)] = \sum_i \frac{\delta(x - x_i)}{\left| \left\{ \frac{\partial f}{\partial x} \right\}_{x=x_i} \right|}$$

↑
as
modules
I think!

③ Let t_r be the roots of $f(t') = 0$.
Note that in general there would be two roots.

$$\textcircled{4} \quad \phi(\vec{x}, t) = q \sum_{r=1}^2 \frac{1}{\sqrt{x^2 + y^2 + (z - vt_r)^2}} \frac{1}{\left[1 - \frac{v}{c} \frac{(z - vt_r)}{\sqrt{x^2 + y^2 + (z - vt_r)^2}} \right]}$$

← check
sign.

$$= q \sum_{r=1}^2 \frac{1}{\sqrt{x^2 + y^2 + (z - vt_r)^2} - \frac{v}{c} (z - vt_r)}$$

$$= q \sum_{r=1}^2 \frac{1}{c(t - t_r) - \frac{v}{c} (z - vt_r)}$$

($\because f(t_r) = 0$)

⑤ Thus our problem reduces to evaluation of t_r .

$$f(t_r) = 0$$

$$R^2 \equiv x^2 + y^2$$

$$t - t_r - \frac{1}{c} \sqrt{R^2 + (z - vt_r)^2} = 0$$

$$c^2 (t - t_r)^2 = R^2 + (z - vt_r)^2$$

$$t^2 + t_r^2 - 2tt_r = \frac{R^2}{c^2} - \frac{z^2}{c^2} - \frac{v^2}{c^2} t_r^2 + 2z \frac{v}{c^2} t_r = 0$$

$$t_r^2 \left(1 - \frac{v^2}{c^2}\right) - 2t_r \left(t - z \frac{v}{c^2}\right) + \left(t^2 - \frac{R^2}{c^2} - \frac{z^2}{c^2}\right) = 0$$

$$t_r = \frac{\left(t - z \frac{v}{c^2}\right) \pm \sqrt{\left(t - z \frac{v}{c^2}\right)^2 - \left(1 - \frac{v^2}{c^2}\right) \left(t^2 - \frac{R^2}{c^2} - \frac{z^2}{c^2}\right)}}{1 - \frac{v^2}{c^2}}$$

$$\textcircled{6} \quad \left(t - z \frac{v}{c^2}\right)^2 - \left(1 - \frac{v^2}{c^2}\right) \left(t^2 - \frac{R^2}{c^2} - \frac{z^2}{c^2}\right)$$

$$= t^2 + z^2 \frac{v^2}{c^4} - 2z \frac{v}{c^2} t - t^2 + \frac{R^2}{c^2} + \frac{z^2}{c^2} + \frac{v^2}{c^2} t^2 - \frac{v^2}{c^2} \frac{R^2}{c^2} - \frac{v^2}{c^2} \frac{z^2}{c^2}$$

$$= \frac{R^2}{c^2} \left(1 - \frac{v^2}{c^2}\right) + \frac{1}{c^2} (z - vt)^2$$

⑦ Using ⑥ in ⑤

$$t_r = \frac{\left(t - z \frac{v}{c^2}\right) \pm \frac{1}{c} \sqrt{R^2 \left(1 - \frac{v^2}{c^2}\right) + (z - vt)^2}}{\left(1 - \frac{v^2}{c^2}\right)}$$

⑧ for $v = 0$

$$t_r = t \pm \frac{1}{c} \frac{y}{c}$$

thus conclude that only negative root contributes for causal process.

⑨ Using ⑦, ⑧ and ④

$$\phi(\vec{x}, t) = \frac{q}{c(t-t_r) - \frac{v}{c}(z-vt_r)}$$

where

$$t_r = \frac{\left(t - z \frac{v}{c^2}\right) - \frac{1}{c} \sqrt{\left(1 - \frac{v^2}{c^2}\right)(x^2 + y^2) + (z - vt)^2}}{\left(1 - \frac{v^2}{c^2}\right)}$$

$$\textcircled{10} \quad r \equiv \sqrt{\left(1 - \frac{v^2}{c^2}\right)(x^2 + y^2) + (z - vt)^2}$$

$$\textcircled{11} \quad c(t-t_r) - \frac{v}{c}(z-vt_r)$$

$$= ct - \frac{c\left(t - z \frac{v}{c^2}\right) - r}{\left(1 - \frac{v^2}{c^2}\right)} - \frac{v}{c}z + \frac{v^2}{c^2} \frac{c\left(t - z \frac{v}{c^2}\right) - r}{\left(1 - \frac{v^2}{c^2}\right)}$$

$$= \frac{1}{\left(1 - \frac{v^2}{c^2}\right)} \left[ct\left(1 - \frac{v^2}{c^2}\right) - c\left(t - z \frac{v}{c^2}\right) + r - \frac{v}{c}z\left(1 - \frac{v^2}{c^2}\right) + \frac{v^2}{c^2}t - z \frac{v^3}{c^3} - \frac{v^2}{c^2}r \right]$$

$$= r$$

⑫ Using ⑪ and ⑩ is ⑨

$$\phi(\vec{x}, t) = \frac{q}{\sqrt{(z - vt)^2 + (x^2 + y^2) \left(1 - \frac{v^2}{c^2}\right)}}$$
